


Questions 1 to 10 camy 1 mark each. Questions 11 to 15 cany 2 marks each. For each
question, four options are given. One of them is the comect answer. Make your choice
(1, 2, 3 or 4). Shade the correct oval (1,2, 3, or 4) on the Optical Answer Sheet.

(20 marks)

1. In 84 905.621, which digit is in the thousandths place?

1) 1
2) 2
3)4

4)8

2. in the number line below, what is the best estimate for the value of:R2:

95 125 155

1) 140
2) 146
3) 149

4) 150

3. Jirii’a mass iswekgiHis massis kg less than Howard's. Both of them.
intend to gain an extra S'kg-eackin 3 years' time. What will be their total
mass in 3'years! fime?

1 2w+ 3) kg
" 2) (2w + 13) kg
3) (2w +33) kg

4) (6w + 33) kg






6.

The pie chart below shows the different types of drinks 160 pupils like.
How many pupils like soft:drink?:

Soft
drink

Milk

Smoothie
35%

1) 56
2) 40
3) 30

4) 24

The usual price of a kettle is $4¢ How much will the kettle cost with a
discount of 20% ?

1) $8
2) $20
3) $32

4) $48






10.

11.

A bus had 46 passengers. 12 passengers alighted from the bus. Express
the number of passengers who have alighted as a fraction of the final

number of passengers on the bus?

What is the area of the trapezium below?

11 cm
-,
8 cm 10 cm
v
: “17 em

1} 46 cm?
2) 112 cm?
3) 118 cm?
4) 166 cm?












Questions 16 fo 25 camy 1 mark each. Write your answers in the spaces
provided. For questions which require units, give your answers in the units
stated. (10 marks)

16. Ping ate 4 biscuits while Lifang ate m biscuits, What was the average
number of biscuits they ate? DU

Ans:
17.  Find the valueof 60 #12+ (50-7) x4

Ans :
18. What fraction of 9 mis 50 cm?

Ans:

Do not write
in this space




19.  Look at the figure and write the letter A and R on the net below.

Do not
write in this
space
A
0
R
0)

20.  15@:daiicers were in dance studios X, Y and Z in the ratio 5°1.2 18 How

many dancers were there in studic Z7-

Ans :










Questions 26 to 30 carry 2 marks each. Show your working clearly and write your
answers in the -spaces provided. For questions which require units, give your

answers in the units stated. (10 marks)

rs old in 2013. In 2009, her age was a

26. Mdm Ong was less than 70 yea
ltiple of 8. How old was Mdm Ong

multiple of 8. In 2007, her age was a mu
in 20137

Ans :

27. The figure below is not drawn fo scale. ABCD is a parallelogram A corner
of the parallelogram is folded along AF. Find £p

B

Jenot
write in this
space




28, A square-based container is -completely-filled with 768 m{ of water. Find the
unknown side of the container.

12:cm-

.....................................

Ans : cm

29.  Two months ago, Jack jogged at a speed of 4.km/h for 3 hours. Now, he can
jog the samtedistance using only 2-Hours. If he jogs for 3-hours-now, what is
the totakdistance he can cover?

Do not
write in this
space




30. The figure below is made up of a 32- circle rectangle. O is the centre of

the circle and the diameter of the circle is 28 m. Find the perimeter of the

figure. (Take = = ?;]2—)

Y

40 m

Ans: m

*END OF PAPER 1**

Do not
write in this
space







Questions 1 to 5 carry 2 marks each. Show your working clearly and write your
answers in the spaces provided. For questions which require units, give your

answers in the units stated.
: (10 marks)

1. Tom wants fo make a square with rectangular cards each measunng 8 cm

by 6 cm How many such rectangular cards must he use to make the
smallest possible square?

6 cm

8 cm

Ans :

2. The figure below shows a triangle enclosed within a semicircle O is the
centre of the semicircle. Find the area of the shaded part.(Take = = 3.14).

Ans : cm?

Do not
wiite in
this space







Keith and Mike had some chocolates in the ratio 2 : 5 When Mike gave Do not
away 40 chocolates to Keith and ate 20 chocolates himself, the ratio of write in
Keith's chocolaies to that of Mike's chocolates becam&: 2 : 11 How many |, this space
chocolates did Mike have at first? -

Ans:




For questions 6 to 18, show your working clearly and write your answers in the
spaces provided. The-number of marks available is shown in brackets [ Jatthe
end of each question or part-question. . (50 marks)

6. There are 40 boys and girls in a team. During training, each boy runs a
distance of 2 kmuwhile each girl runs 0.8 km. Given that all the boys and
girls have run a total of 53.6 km how many boys are there in the team?

Ans - ' [3m]

Do not
write in this
space




8.

In a factory, the first baich of foy cars and toy bears were produced in the
ratic 5 : 8 'In the second batch of production, the number of toy bears
produced increased by 40%. If 455 toys.were produced during the first
batch, find the increase in the number of toy bears produced in the second
batch. ’

Ans: {3m}

The figure shows two identical semicircles. O and P are the centres of the
. 1 _
semicircles. 3 of each semicircle is shaded. Find the total area of the

shaded parts. (Take = = 3.14)

F 3
Y

60 cm

Ans [3m]

Do not
write in
this space







10. Maxie had. 1 900 mf more fruit juice than Nick. After Maxie gave Nick g‘;ﬂgc;f
I

500 m¢ of fruit juice, the ratio of Maxie's juice to Nick's juice became 5 : 2. this space
How much fruit juice did Maxie have at first?

Ans: [3m]







12.  Tashaki has $67.50.in the form of 10¢, 20¢ and 50¢ coins. The number of Do ot
ite in this
20-¢ coins is %of the number of 50-¢ coins and twice as many as the space

number of 10-¢ coins. What is the value of the 50-¢ coins that Tashaki has?

Ans 141

10






14.  An empty Container G measures 45 cm by 18 cm by 37.5 cm. Container H | Donot
with a base area of 1125 cm? was completely filled with water. Ronald ‘;’;‘;2;“ this
poured —15—1- of the water from container H into container G. The water filled —32-
of Container G. What was the height Container H ?

37.5cm
£ v 18 cm
45cm
Container G Container H 1125 cm?
Ans: [4m]

12






16. The figure below shows 2 identical circles ,enclosed’in a rectangie EFGH. Sgtnqt .
Find the area of the shaded parts. ( Take = = 3.14) e in this

space

80 cm

Ans: [5m]

14






18. Tank K measuring 54 cm by 14 cm by 25 cm contains 4.7 £of water. It is
being filled' with water flowing from Tap C at 0.9 ¢ /mun and Tap D at
985 mf Imin.

(a) Both taps are tumed on at the same time. How long does it take to fill up
tank K till it is 75% full? : '

(b) Some water_is.then poured from tank K to tank J_without spilling. The
heights of the water level in both the tanks are now equal. Find the
height of the water level in tank J. Leave your answer comect io 2
decimal places.

Tap C Tap D T - A
é D G % é -
4 ~+ Y : 42 cm
25 cm :
R N ¥
/14 cm 3} 18 om
M 54 cm " ) 26 cm
Tank K Tank J
Ans : (a) [Bm]
(b) 2mj

** END OF PAPER-**

Donot -
write in
this space







Q3

Q4

Q5

Qb6

Q7

Q8

100.48-76.8=23 .68 -
The area of the shaded part is 23.68cmz.
4x4x2=32

32-4=28

2x2x2=8

28x8=224 L

The volume of the figure is 224cm?.
45.30=15

6h15min=6%h
6%x350=2187%=2187.5

The distance covered was 2187.5km.

Before After
K:M K:M
2:5 2:1

(+40)(-40) 4:2

(-20)

7u- 6u= 1u

Tu->20

Su->20x5=100

Mike had 100 chocolates at first.
2km=2000m
0.8km=800m
53.6km=53600m
40x800=32000
53600-32000=21600
2000-800=1200
21600+1200=18
There were 18 boys.
C:B

5:8

50: 80
40/100x80=32
50+80=130
tu->455+130=35
32u->3.5x32=112
The increase was 112..
D->60+2=30
r->30:2=15
3.14x15x15=706.5
Total-> 10u
shaded->2u
706.5+10=70.65

70.65x2=141.3

The area of the shaded parts is 141.3cm>.



Qs

Q10

Q11

Q12

Q13

Q14

20%=%=12/60
1/12=5/60

%=15/60

15u->135

tu->135:15=9

E+l55u+12u=17u

17u->9x17=153 -
There were 153 European and Indian tourists altogether.
500+500=1000

Su-2u=3u

1900-1000=900

800->3u

1u->900+3=300

Su->300x5=1500

1500+500=2000

Maxie had 2000m! of fruit juice at first.
Total— 1-3/10=7/10
%x4/10=4/15->s0ld

7/10-4/15=13/30

312:13=24

Total->24x30=720

120+10=72

72x7=504

904 bottles were sold altogether.
10¢x1=10¢

20¢x2=40¢

50¢x8=%4

1 set->$4+40¢+10¢=$4.50
$67.50:$4.50=15

15x8=120

120x40.50=$60

It's value is $60.

| 30km

4/ 2/

BE2=UX =Y

%X3=%

1-%=%

Su->30km

1u->30+5=6

8u->6x8=48(Total Distance)

48:6=8

He took 8 hours to complete the whole hike.
%x37.5=25 '
25x45x18=20250(5u of H)




Q15

Q16

Q17

218

20250:5=4050
(H)Total>4050x11=44550
44550:1125=39.6
Its height is 39.6cm.

46%
| ST 54% |
TITIT [T]T]cTC[C[C

— 2 —J

T+C->54%=27/50
1-5/9=4/9
car->4/9x27/50=6/25
ST->46%=23/50
23/50+6/25=7/10
7u->280
1u->280:7=40
10u(Total)->40x10=400
6/25x400=96
‘There were 96 toy cars in the shop.
D->80+2=40
r>40+2=20
(0>3.14x20x20=1256
0 240x80=3200
1256x2=2512
8x —>3200-2512=688
A 5688+8=86
A 2%x20x40=800
B->800x2=1600
4A->86x4=344
unshaded : 1600+344=1944
3200-1944=1256
Its area is 1256cm2.
1-%=%
30x4=120
120>%
%>120:5=24
%->24x8=192(total distance)
192:4=48
Randy's speed was 48km/h.
a) Tank K>54x14x25=18900
18900x75%=14175
14175-4700=9475
 900+995=1895
9475:1895=5 :
It takes 5 minutes 'to fill 75%of it.



b) 54x14=756
26x18=468
48+756=1224
14175:1224~11.58088
=11.58
Their height is about 1 1.58cm.






	CHIJ SA2


